Vanersborgs BS
Parspel med hcp. Tva prislistor. 2022-01-17

Partavling, 5 bord, 9 par. Antal brickor: 27. Medel: -0.0. Frirond (*) ger egen procent.

Plac  Par Poéng % Namn MID Klubb
1 10 23.0 64.23  Kalle Fyhr - Lars Jonsson 33110 66454  Vanersborgs BS
2 3 3.8 52.37 Elisabeth Bredberg - Magnus Cassel 35697 41676  Vanersborgs BS
3 4 2.8 51.74 Larsgunnar Andersson - Kerstin Wiberg 20573 20574  Vanersborgs BS
4 8 0.0 50.02  Lennart Karlsson - Bror Andersson 2986 1752 Vanersborgs BS
5 6 -0.3 49.80 Bengt-Ake Svensson - Rolf Fagerstrém 84918 7715 Véanershorgs BS
6 7 -1.5 49.10  Ingemar Johansson - Gunilla Liljekvist 51590 951 Vanersborgs BS
7 2 -5.6 46.53  Vivianne Fransson - Patrik Aman 88320 94001  Vénersborgs BS
8 5 -5.6 46.52 Per Magnusson - Birgitta Wilhelmsson 55622 17196  Vanersborgs BS
9 9 -16.7 39.70  Lars-Erik Moberg - Andrzej Luczynski 8593 81105  Vanersborgs BS
1 Nord Ingen 2 Ost NS 3 Syd OV
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
52 2NV= v4 -120 30 30| 73 620-2 &5 100 30 -30| 52 3NS+1 a5 430 3.0 -3.0
46 3NV= a5 -400 00 00| 52 540-1 v7 50 10 -10| 46 4vS= a2 420 10 -1.0
7 3 3NO= »2 -400 00 00| 46 3NO+2 +K -460 -20 20| 7 3 3NS= 8 400 20 20
9 8 3NV +1 *7 -430 -3.0 3.0 98 3NO+2 +Q -460 -2.0 20| 9 8 3NN= 46 400 -20 20
10 - 0.5 10 - 0.5 10 - 0.5
4 Vvast Alla 5 Nord NS 6 Ost OV
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
10 2 3NN +1 a7 630 30 -3.0[10 2 4v0-1 »3 50 30 30| 57 2NO+1 4Q -150 3.0 -3.0
57 3NN= 48 600 -1.0 10| 6 3 2v O+2 »3 -170 10 -10| 10 2 2¢v O+2 49 -170 10 -1
6 3 3NN= 48 600 -10 10| 57 44 V= LY 420 -1.0 10| 8 4 3NV= vT -600 -1.0 1.
8 4 3NN= «Q 600 -10 10| 8 4 3NV+1 +8 430 -3.0 30| 6 3 4v V= a4 -620 -3.0 3.
-9 -0.3 -9 -0.3 -9 -0.
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
10 3 3NS+1 vT 630 30 -30| 68 3¢ S= a5 110 20 -20| 68 4¢ 0-1 a7 100 20 -20
6 8 3NS= ] 600 10 -10| 95 3¢ S= a5 110 20 -20| 7 4 3NO-1 46 100 20 -20
7 4 2NS= ] 120 -10 10| 7 4 3¢ S-1 &K 50 -1.0 10| 95 34S-1 LY 50 -2.0 20
95 INS= 4] 90 -30 30|10 3 24 O+1 *4 -140 -3.0 3.0( 10 3 34 S-1 A -50 -2.0 20
2 - -0.6 2 - -0.6 2 - -0.6
10 Ost Alla 11 Syd Ingen 12 vVast NS
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
10 4 44 O -2 vA 200 30 -3.0| 79 3NN+1 vT 430 20 -20| 7 9 Pass 20 -20
8 5 3¢ S= 46 110 10 -10[ 8 5 3NN+1 *6 430 20 -2.0| 8 5 Pass 20 -2.
32 4v N-1 ¢ A -100 -1.0 10| 3 2 3¢ S+l s A 130 -20 20| 3 2 34S-1 29 -100 -1.0 1.
79 24 0= vA -110 -3.0 3.0| 10 4 3¢ S+1 v8 130 -20 20| 10 4 3NN-2 »3 -200 -3.0 3.
-6 0.3 -6 0.3 -6 0.
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
10 5 6NO -2 49 200 3.0 -3.0| 10 5 3NN+2 +6 460 30 -30| 43 3602 2 100 3.0 -3.0
9 6 3NO= »8 -600 10 -10| 2 7 3NS+1 v3 430 00 00| 96 2¢ O+1 2 -110 0.0 0.0
27 3NO+1 49 -630 -1.0 10| 4 3 3NS+1 v8 430 00 00| 105 2¢ O+1 46 -110 0.0 0.0
4 3 3NV+3 v4 -690 -3.0 3.0 96 3NS= v3 400 -30 30| 27 3NV= a7 -400 -3.0 3.0
8 - 0.2 8 - 0.2 8 - 0.2
16 Vast OV 17 Nord Ingen 18 Ost NS
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
38 3v0-3 A 300 30 -3.0|10 6 2&V+2 *T -130 30 -3.0| 54 3NS+3 v2 690 20 -20
10 6 1v O = 46 -80 10 -10| 54 24 O+1 vK -140 10 -1.0[ 9 2 3NS+3 v4 690 20 -2.
54 3sV= &K -140 -1.0 10| 3 8 340+1 2 -170  -20 2.0 10 6 3NS+2 v2 660 -1.0 1.
92 340+1 46 -170 -3.0 3.0 9 2 24 O+2 +4 -170 -20 20| 3 8 3NN+1 v2 630 -3.0 3.
-7 -0.2 -7 -0.2 -7 -0.
19 Syd OV 20 Vast Alla 21 Nord NS
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 5 44 V= A -620 30 -3.0| 2 8 Pass 30 -30| 65 245S-1 v8 -100 20 -20
2 8 44 V+1 A -650 00 00|10 7 3vV= +Q -140 10 -10| 10 7 2¢ N-1 v6 -100 20 -2.
10 7 5v V= LY -650 00 00| 49 3240+2 »3 -150 20 20| 4 9 4eV= +J -130  -1.0 1.
49 54DN-4 vJ -800 -3.0 30| 65 3#0+2 »8 -150 -20 20| 2 8 2¢ N-2 48 -200 -3.0 3.
-3 0.2 -3 0.2 -3 0.
22 Ost OV 23 Syd Alla 24 Vst Ingen
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
39 3v0-2 2 200 30 -3.0|10 8 INV-1 LY 100 30 -3.0| 10 8 4aDN+1 &3 690 3.0 -3.0
2 4 3¢ N= vK 110 00 00| 39 INN= 3 90 00 00| 39 6vDO-3 &7 500 10 -1.0
76 3¢ N= vK 110 00 00| 76 INN= 43 90 00 00| 2 4 34 N+2 *3 200 -1.0 1.0
10 8 5¢ N-2 ] 100 -3.0 3.0 24 240+1 &7 -140 -3.0 30| 7 6 64aDN-2 43 -300 -3.0 3.0
5 - -0.1 5 - -0.1 5 - -0.1
25 Nord OV 26 Ost Alla 27 Syd Ingen
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
8 7 3vV-2 a7 200 30 -30| 35 44 N= +3 620 30 -3.0| 87 44 N= v8 420 3.0 -3.
35 2vV= A -110 00 00| 6 2 24 N+2 &K 170 10 -10| 35 34S-1 A -50 -1.0 1.
6 2 1v V+1 a7 -110 00 00| 87 24 N= *2 110 20 20| 6 2 44 S-1 A -50 -1.0 1.
10 9 2v V+1 +Q -140 -3.0 3.0 10 9 24 N= &K 110 -20 20|10 9 34 N-1 v4 50 -1.0 1
4 - 0.1 4 - 0.1 4 - 0.1
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